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Sentence Jumbles & Para Jumble Questions for SBI PO Exam

Directions (1-5): In the following questions six sentences are given. You must rearrange these
sentences to make a contextually meaningful paragraph. Later, answer the following questions.
(A) They also help us in shaping our personality by developing our communication skills and emotional
intelligence.

(B) Interacting with different people from diverse backgrounds is an important aspect of our lives.

(C) This allows us to exchange our ideas and knowledge that can lead to the formation of new and
innovative solutions.

(D) Social interactions are an essential part of human existence.

(E) In addition to that, social interactions also provide us with a sense of belongingness.

(F) Therefore, it is important to cultivate healthy and positive social relationships.

Q1. Which is the SECOND sentence after rearrangement?
(@A
(b) B
(9cC
(d)D
(e)E

Q2. Which is the LAST sentence after rearrangement?
(a) A
(b)B
(0 C
(d)F
(e)E

Q3. Which is the FIRST sentence after rearrangement?
(@b
(b) B
(cC
(dF
(e)E

Q4. Which is the FOURTH sentence after rearrangement?
(@A
(b) F A

¢ BANK

()E MAHAPACK
Q5. Which is the FIFTH sentence after rearrangement? for all Bank & Insurance
(@) A Exams

(b) B

(©cC ke
(d) D Selection Ka Saathi -

(e)E
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Directions (6-10): In the given question five sentences are given. Rearrange these sentences in a
meaningful order to answer the following questions.

(A) Have a bias towards action, always, get started; you'll figure out the rest on the way.

(B) There are times when you don’t know anything about something, and you're still asked to do
something about it.

(C) Otherwise, you would be married to your idea and turn a blind eye to all counter arguments.

(D) But, if you think about it, it’s in fact better not to have too much conviction.

(E) Bottomline is that it’s important to act, conviction or not, what kills you at the end is rarely action
but lack of it.

Q6. Which of the following statements will be the fourth after rearrangement?
(a) A
(b) B
(@C
(d)D
(e) E

Q7. Which of the following statements will be the second after rearrangement?
(a) A
(b) B
(@C
(d)D
(e) E

Q8. Which of the following statements will be the fifth after rearrangement?
(@A
(b) B
(cC
(d)D
(e)E

Q9. Which of the following statements will be the third after rearrangement?
(@A
(b) B
(0 C
(d)D
(e)E

Q10. Which of the following statements will be the first after rearrangement?
(a) A
(b) B
(@C
(d)D
(e) E
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Directions (11-15): In the following questions, six sentences have been given. Rearrange the
sentences to make a meaningful paragraph. After rearrangement, answer the following
questions.

(A) This financial year also, the company has reported a huge revenue.

(B) Initially, the company was known for its innovative products.

(C) After so many achievements and earning huge profits, the company has a strong social media
presence.

(D) The company XYZ was founded by a group of friends in the year 2005.

(E) For its international trade, the company won several awards for its exceptional customer service.
(F) Its products were sold in more than 100 countries worldwide.

Q11. Which is the SECOND sentence after rearrangement?
(@ F
(b) B
(9cC
(d)D
(e)E

Q12. Which is the LAST sentence after rearrangement?
(@) A
(b)B
(0 C
(d)D
(e)E

Q13. Which is the FIFTH sentence after rearrangement?
(@A
(b) B
(ccC
(d)D
(e)E

Q14. Which is the FIRST sentence after rearrangement?
(@F
(b) B
(0 C
(d)A
(e)D

Q15. Which is the FOURTH sentence after rearrangement?
(@A
(b) B
(0 E
(d)D
(e)C
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Directions (16-18): The following five sentences have been given which aren’t in their correct
order. Rearrange them in the correct sequence to make a meaningful paragraph then answer
the questions given below.

(A) Thus, issues related to “water scarcity” should be reviewed to devise a more sustainable approach
to water resource management.

(B) Since water availability and accessibility are the most significant constrains for crop production,
addressing this issue is indispensable.

(C) At present water shortage is one of the primary world issues, and it is expected to be more critical
in the future.

(D) In addition to that, the estimated increment of the population, increasing food demand is inevitable
with an immediate impact on farming water use.

(E) The increasing water scarcity and drought will be the root of dispute between various sectors of the
economy.

Q16. Which is the FOURTH sentence after rearrangement?
(@ E
(b)C
(A
(d)B
(e)D

Q17. Which is the SECOND sentence after rearrangement?
(@ E
(b)C
(A
(d)B
(e)D

Q18. Which is the FIRST sentence after rearrangement?
(@ E
(b) C
(c)A
(d)B
(e)D

Directions (19-23): In the following questions, a grammatically correct and meaningful sentence
is given which is divided into four parts, (A), (B), (C), and (D). You have to arrange the four parts
to make a contextually and grammatically meaningful sentence. If no rearrangement is
required, mark (e) as your answer i.e. 'No rearrangement required.

Q19. that requires ongoing efforts to challenge and (A)/ dismantle patriarchal structures that
(B)/ gender equality is a fundamental human right (C)/ limit opportunities for women (D)

(a) CABD

(b) ACDB

(c) CBDA

(d) BADC

(e) No rearrangement required
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Q20. the fundamental fairness of our economic system (A)/ income inequality is not just about
(B)/ the poor getting poorer, it is about (C)/ the rich getting richer and (D)

(a) DACB

(b) BDCA

(c) CBDA

(d) DABC

(e) No rearrangement required

Q21.they are about creating a society where (A)/ and included in all aspects oflife (B)/ disability
rights are not just about accommodation, (C)/ people with disabilities are valued (D)

(a) CADB

(b) DCAB

(c) BADC

(d) CBAD

(e) No rearrangement required

Q22. it is a social issue that demands (A)/ human activities on other living beings (B)/ we
acknowledge and address the impact of (C)/ animal welfare is not just a matter of individual
Kindness, (D)

(a) DBCA

(b) CABD

(c) BADC

(d) DACB

(e) No rearrangement required

Q23.immigration is not just a political issue, (A)/ it is a human issue that requires (B)/ empathy
and understanding for those seeking (C)/ a better life for themselves and their families (D)

(a) CDAB

(b) ACBD

(c) CBDA

(d) ABDC

(e) No rearrangement required

Directions (24-29): In the following questions, a grammatically correct and meaningful sentence
is given which is divided into four parts (A), (B), (C) and (D). Arrange the four parts to make a
contextually and grammatically meaningful sentence (the meaning can be different from the one
given in the question). If no such rearrangement is possible or the sentence is correct asitis then
mark (e) as your answer i.e. 'No rearrangement required’'.

Q24. (A) belonging can come from
(B) a sense of purpose and

(C) connecting with others through
(D) shared values and beliefs

(a) BCDA
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(b) CBDA
(c) BACD
(d) DCAB
(e) No rearrangement is required

Q25. (A) it's a problem that

(B) addressed and eradicated
(C) racism is not an opinion,
(D) needs to be actively

(a) CADB

(b) BDCA

(C) CDAB

(d) ABCD

(e) No rearrangement required

Q26. (A) not just for the few
(B) technology is accessible

(C) and beneficial for all,

(D) we need to ensure that

(a) DBCA

(b) BACD

(c) CDBA

(d) DABC

(e) No rearrangement required

Q27. (A) promoting inclusion can
(B) lead to more harmonious and
(C) embracing diversity and

(D) equitable communities for all
(a) DACB

(b) CABD

(c) CBDA

(d) BCDA

(e) No rearrangement is required

Q28. (A) positivity to our daily lives
(B) mindfulness and gratitude 'm
(C) can bring a sense of calm and
(D) cultivating a sense of

(a) DBCA

(b) CADB

(c) DABC zY @ . - [D
(d) BACD 7]1S1@

(e) No rearrangement is required

ALL EXAMS,
ONE SUBSCRIPTION.



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applinknew.adda247.com/d/2QGUSmNnAg

i

Q29. (A) discrimination should never be tolerated,
(B) and empowered to seek justice

(C) gender-based violence and

(D) and victims should be supported

(a) CADB

(b) BACD

(c) CDBA

(d) DABC

(e) No rearrangement required

Q30. Instructions: In the question given below, some sentences/phrases are given which have to
be arranged in a proper sequence to form a correct sentence grammatically and contextually.
Select the option which best defines the proper sequence and arranges the sentence in an
appropriate way.

(A) of resources to address

(B) poverty and inequality

(C) equitable distribution

(D) we need to move

(E) towards a more

(a) DEABC

(b) EDABC

(c) No rearrangement possible

(d) DECAB

(e) CEDAB

Q31.Instructions: In the question given below, some sentences/phrases are given which have to
be arranged in a proper sequence to form a correct sentence grammatically and contextually.
Select the option which best defines the proper sequence and arranges the sentence in an
appropriate way.

(A) crucial for creating

(B) individuals to thrive in the economy

(C) investing in education

(D) opportunities for all

(E) and job training is

(a) BCAED

(b) CABED

(c) EDCAB

(d) CEADB

(e) No rearrangement possible
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Q32. Instructions: In the question given below, some sentences/phrases are given which have to
be arranged in a proper sequence to form a correct sentence grammatically and contextually.
Select the option which best defines the proper sequence and arranges the sentence in an
appropriate way.

(A) for future generations

(B) cultural heritage is

(C) avaluable asset

(D) preserved and celebrated

(E) that should be

(a) BCEDA

(b) ACEBD

(c) EBACD

(d) No rearrangement possible

(e) BCAED

Q33. Instructions: In the question given below, some sentences/phrases are given which have to
be arranged in a proper sequence to form a correct sentence grammatically and contextually.
Select the option which best defines the proper sequence and arranges the sentence in an
appropriate way.

(A) be bridged to ensure

(B) the digital divide must

(C) for all individuals

(D) equitable access to

(E) information and resources

(a) DEABC

(b) BADEC

(c) No rearrangement possible

(d) AEBDC

(e) BDEAC

Directions (34-38): Rearrange the following five sentences (A), (B), (C), (D) and (E) in the proper
sequence to form a paragraph then, answer the questions given below.

(A) Instead, she decided to use it as a motivator to do better next time.

(B) She felt like all of her hard work had been for nothing.

(C) Although it wasn't easy, Jane slowly started to regain her confidence.

(D) However, she knew she couldn't let this failure define her.

(E) Jane was completely devastated to find out that she had failed.

Q34. Which of the following will be the third statement after rearrangement?
(@b
(b) A
(0B
(d)E
(e)C
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Q35. Which of the following will be the first statement after rearrangement?
(@C
(b)A
(0D
(d)E
(e)B

Q36. Which of the following will be the fourth statement after rearrangement?
(a)A
(b)B
(c)D
() E
(e)C

Q37. Which of the following will be the second statement after rearrangement?
(@ E
(b)A
(@D
(d)B
(e)C

Q38. Which of the following will be the fifth statement after rearrangement?
(a)B
(b) A
(ccC
(d)E
(e)D

Directions (39-43): In the following questions five sentences are given. You have to rearrange
these sentences to make a contextually meaningful paragraph. Later, answer the follow-up
questions.

(A) However, she had been diligent about stretching and doing strength exercises to prevent injury.
(B) As the marathon approached, she felt a mix of nerves and excitement, ready to put in all her hard
work.

(C) She had also adjusted her diet, ensuring she was eating enough carbohydrates and protein.

(D) Sarah had been training for months, waking up early every morning to go for a run before work.
(E) She had slowly increased her mileage, pushing herself to go further each week.

Q39. Which of the following would be the correct order of sentences after rearrangement?
(a) DEACB
(b) CBDAE
(c) ABCED
(d) DBACE
(e) CAEDB
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Q40. Which of the following would be the THIRD sentence after rearrangement?
(@A
(b) B
(9cC
(d)D
(e)E

Q41. Which of the following would be the FIRST sentence after rearrangement?
(@A
(b) B
(@cC
(d)D
(e)E

Q42. Which of the following would be the LAST sentence after rearrangement?
(@A
(b) B
(9cC
(d)D
(e)E

Q43. Which of the following would be the FOURTH sentence after rearrangement?
(@A
(b) B
(cC
(d)D
(e)E

Directions (44-48): Given below are five sentences which are part of a coherent narrative but not
necessarily in their correct order. Rearrange the sentences to form a meaningful narrative and
answer the questions that follow.

(A) But these seasonal workers also face severe exploitation by their contractors, also known as
Mukadams.

(B) They travel from the drought-affected areas to western Maharashtra’s areas which are part of a sugar
belt.

(C) They are paid no more than 350,000 to 60,000 per pair for about 150 days of work.

(D) Here, they work in the sugarcane fields under harsh work and weather conditions.

(E) For decades, about 12 lakhs to 15 lakh people have been migrating within Maharashtra to cut
sugarcane.

Q44. Which of the following is the THIRD sentence after the rearrangement?
(@C
(b) D
(c)B
(d)E
(e) A
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Q45. Which of the following is the FIFTH sentence after the rearrangement?
(@C
(b) E
(0B
(d)A
(e)D

Q46. Which of the following is the SECOND sentence after the rearrangement?
(a)B
(b) E
(A
(d)C
(e)D

Q47. Which of the following is the FIRST sentence after the rearrangement?
(@C
(b)D
(0B
(d)A
(e) E

Q48. Which of the following is the FOURTH sentence after the rearrangement?
(a)C
(b) E
(c)B
(d) A
(e)D

Directions (49-53): In the following questions, five sentences are given. Rearrange these
sentences to make a contextually meaningful paragraph and answer the following questions.
(A) With each step he took, the air grew thinner and his legs grew heavier.

(B) Standing at the top, he felt triumphant and awestruck by the wind whipping past him.

(C) John tightened the straps of his backpack and took a deep breath, looking up at the towering peak
ahead.

(D) But he kept pushing himself, one foot in front of the other until he finally reached the summit.

(E) As he climbed higher, he felt his heart beating faster and his mind racing with thoughts of doubt and
fear.

Q49. Which is the SECOND sentence after rearrangement?
(a)A
(b) B
(@C
(d)D
(e) E
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Q50. Which is the LAST sentence after rearrangement? A
(a) A
(b) B BANK

C
o MAHAPACK

(e)E for all Bank & Insurance
Exams

Q51. Which is the THIRD sentence after rearrangement?
(@) A ke

n 4
(b) B Selection Ka Saathi
(ocC
(dD

(e)E

Q52. Which is the FIRST sentence after rearrangement?
(a)A
(b) B
(@C
(d)D
(e) E

Q53. Which is the FOURTH sentence after rearrangement?
(@A
(b) B
(0 C
(dD
(e)E

$1. Ans.(b)

Sol. The given passage is talking about social interaction. The first in the rearrangement will be sentence
(D) which mentions that social interactions are an essential part of human existence. Second sentence
will be sentence (B) which mentions that interaction with different people from diverse backgrounds is
crucial. Next will be sentence (C) which mentions the benefits of interaction with different people from
diverse backgrounds. Sentence (C) will be followed by sentence (A) which mentions the benefits of the
exchange of ideas and knowledge and the pronoun ‘they’ denotes a plural noun that is mentioned in
sentence (C) i.e., ‘innovative solutions’. The fifth sentence will be sentence (E) which mentions another
benefit of social interaction. Last in the sequence will be sentence (F) which concludes the passage.
Therefore, the correct sequence of the given sentences will be DBCAEF.
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S2. Ans.(d)

Sol. The given passage is talking about social interaction. The first in the rearrangement will be sentence
(D) which mentions the importance of social interaction. Second sentence will be sentence (B) which
mentions that interaction with different people from diverse backgrounds is crucial. Next will be
sentence (C) which mentions the benefits of interaction with different people from diverse backgrounds.
Sentence (C) will be followed by sentence (A) which mentions the benefits of the exchange of ideas and
knowledge and the pronoun ‘they’ denotes a plural noun that is mentioned in sentence (C) i.e.,
‘innovative solutions’. The fifth sentence will be sentence (E) which mentions another benefit of social
interaction. Last in the sequence will be sentence (F) which concludes the passage. Therefore, the
correct sequence of the given sentences will be DBCAEF.

S$3.Ans.(a)

Sol. The given passage is talking about social interaction. The first in the rearrangement will be sentence
(D) which mentions the importance of social interaction. Second sentence will be sentence (B) which
mentions that interaction with different people from diverse backgrounds is crucial. Next will be
sentence (C) which mentions the benefits of interaction with different people from diverse backgrounds.
Sentence (C) will be followed by sentence (A) which mentions the benefits of the exchange of ideas and
knowledge and the pronoun ‘they’ denotes a plural noun that is mentioned in sentence (C) i.e.,
‘innovative solutions’. The fifth sentence will be sentence (E) which mentions another benefit of social
interaction. Last in the sequence will be sentence (F) which concludes the passage. Therefore, the
correct sequence of the given sentences will be DBCAEF.

S4. Ans.(a)

Sol. The given passage is talking about social interaction. The first in the rearrangement will be sentence
(D) which mentions the importance of social interaction. Second sentence will be sentence (B) which
mentions that interaction with different people from diverse backgrounds is crucial. Next will be
sentence (C) which mentions the benefits of interaction with different people from diverse backgrounds.
Sentence (C) will be followed by sentence (A) which mentions the benefits of the exchange of ideas and
knowledge and the pronoun ‘they’ denotes a plural noun that is mentioned in sentence (C) i.e.,
‘innovative solutions’. The fifth sentence will be sentence (E) which mentions another benefit of social
interaction. Last in the sequence will be sentence (F) which concludes the passage. Therefore, the
correct sequence of the given sentences will be DBCAEF.

$5. Ans.(e)

Sol. The given passage is talking about social interaction. The first in the rearrangement will be sentence
(D) which mentions the importance of social interaction. Second sentence will be sentence (B) which
mentions that interaction with different people from diverse backgrounds is crucial. Next will be
sentence (C) which mentions the benefits of interaction with different people from diverse backgrounds.
Sentence (C) will be followed by sentence (A) which mentions the benefits of the exchange of ideas and
knowledge and the pronoun ‘they’ denotes a plural noun that is mentioned in sentence (C) i.e.,
‘innovative solutions’. The fifth sentence will be sentence (E) which mentions another benefit of social
interaction. Last in the sequence will be sentence (F) which concludes the passage. Therefore, the
correct sequence of the given sentences will be DBCAEF.
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$6. Ans.(e)

Sol. Analyzing the given sentences, it can be clearly understood that sentence (B), being the only
independent statement here, is the initiator of the given passage. The next statement in the series of
sentences is statement (D), which states the downside of having too many convictions, this is then
further described in statement (C). Statement (E) and statement (A) established the fact and thus will
be placed next in line in the same order. Hence, the correct order statement is BDCEA.

S$7.Ans.(d)

Sol. Analyzing the given sentences, it can be clearly understood that sentence (B), being the only
independent statement here, is the initiator of the given passage. The next statement in the series of
sentences is statement (D), which states the downside of having too many convictions, this is then
further described in statement (C). Statement (E) and statement (A) established the fact and thus will
be placed next in line in the same order. Hence, the correct order statement is BDCEA.

$8. Ans.(a)

Sol. Analyzing the given sentences, it can be clearly understood that sentence (B), being the only
independent statement here, is the initiator of the given passage. The next statement in the series of
sentences is statement (D), which states the downside of having too many convictions, this is then
further described in statement (C). Statement (E) and statement (A) established the fact and thus will
be placed next in line in the same order. Hence, the correct order statement is BDCEA.

$9. Ans.(c)

Sol. Analyzing the given sentences, it can be clearly understood that sentence (B), being the only
independent statement here, is the initiator of the given passage. The next statement in the series of
sentences is statement (D), which states the downside of having too many convictions, this is then
further described in statement (C). Statement (E) and statement (A) established the fact and thus will
be placed next in line in the same order. Hence, the correct order statement is BDCEA.

$10. Ans.(b)

Sol. Analyzing the given sentences, it can be clearly understood that sentence (B), being the only
independent statement here, is the initiator of the given passage. The next statement in the series of
sentences is statement (D), which states the downside of having too many convictions, this is then
further described in statement (C). Statement (E) and statement (A) established the fact and thus will
be placed next in line in the same order. Hence, the correct order statement is BDCEA.

$11. Ans.(b)

Sol. By going through all the sentences, we can conclude that the given passage is talking about a
company and its achievements. The introductory statement will be statement (D) which mentions the
commencement of a company. Next will be statement (B) which mentions company’s innovative
products. Third in the sequence will be sentence (F) which mentions that its products were sold in more
than 100 countries worldwide. Forth in the sequence will be sentence (E) which mentions that the
company has received many awards for its international trade. Sentence (E) will be then followed by
sentence (C) which mentions that company the company has a strong social media presence also. Last
in the arrangement will be sentence (A), which mentions that this financial year also the company has
reported a huge revenue. Therefore, the rearrangement will be DBFECA.
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S$12. Ans.(a)

Sol. By going through all the sentences, we can conclude that the given passage is talking about a
company and its achievements. The introductory statement will be statement (D) which mentions the
commencement of a company. Next will be statement (B) which mentions company’s innovative
products. Third in the sequence will be sentence (F) which mentions that its products were sold in more
than 100 countries worldwide. Forth in the sequence will be sentence (E) which mentions that the
company has received many awards for its international trade. Sentence (E) will be then followed by
sentence (C) which mentions that company the company has a strong social media presence also. Last
in the arrangement will be sentence (A), which mentions that this financial year also the company has
reported a huge revenue. Therefore, the rearrangement will be DBFECA.

$13. Ans.(c)

Sol. By going through all the sentences, we can conclude that the given passage is talking about a
company and its achievements. The introductory statement will be statement (D) which mentions the
commencement of a company. Next will be statement (B) which mentions company’s innovative
products. Third in the sequence will be sentence (F) which mentions that its products were sold in more
than 100 countries worldwide. Forth in the sequence will be sentence (E) which mentions that the
company has received many awards for its international trade. Sentence (E) will be then followed by
sentence (C) which mentions that company the company has a strong social media presence also. Last
in the arrangement will be sentence (A), which mentions that this financial year also the company has
reported a huge revenue. Therefore, the rearrangement will be DBFECA.

S$14. Ans.(e)

Sol. By going through all the sentences, we can conclude that the given passage is talking about a
company and its achievements. The introductory statement will be statement (D) which mentions the
commencement of a company. Next will be statement (B) which mentions company’s innovative
products. Third in the sequence will be sentence (F) which mentions that its products were sold in more
than 100 countries worldwide. Forth in the sequence will be sentence (E) which mentions that the
company has received many awards for its international trade. Sentence (E) will be then followed by
sentence (C) which mentions that company the company has a strong social media presence also. Last
in the arrangement will be sentence (A), which mentions that this financial year also the company has
reported a huge revenue. Therefore, the rearrangement will be DBFECA.

$15. Ans.(c)

Sol. By going through all the sentences, we can conclude that the given passage is talking about a
company and its achievements. The introductory statement will be statement (D) which mentions the
commencement of a company. Next will be statement (B) which mentions company’s innovative
products. Third in the sequence will be sentence (F) which mentions that its products were sold in more
than 100 countries worldwide. Forth in the sequence will be sentence (E) which mentions that the
company has received many awards for its international trade. Sentence (E) will be then followed by
sentence (C) which mentions that company the company has a strong social media presence also. Last
in the arrangement will be sentence (A), which mentions that this financial year also the company has
reported a huge revenue. Therefore, the rearrangement will be DBFECA.
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$16. Ans.(d)

Sol. By going through the sentences, we can conclude that the paragraph is talking about the water
scarcity. The sentence (C) should be the first statement of this rearrangement as it clearly introduces
the theme of the passage. The effect of water scarcity is given in option (E), thus will be the second
statement of the rearrangement. This is then further explained in (D) and then continued in (B).
Statement (A) provides the solution of greater water resource management. Thus, the coherent
rearrangement will be CEDBA.

$17. Ans.(a)

Sol. By going through the sentences, we can conclude that the paragraph is talking about the water
scarcity. The sentence (C) should be the first statement of this rearrangement as it clearly introduces
the theme of the passage. The effect of water scarcity is given in option (E), thus will be the second
statement of the rearrangement. This is then further explained in (D) and then continued in (B).
Statement (A) provides the solution of greater water resource management. Thus, the coherent
rearrangement will be CEDBA.

$18. Ans.(b)

Sol. By going through the sentences, we can conclude that the paragraph is talking about the water
scarcity. The sentence (C) should be the first statement of this rearrangement as it clearly introduces
the theme of the passage. The effect of water scarcity is given in option (E), thus will be the second
statement of the rearrangement. This is then further explained in (D) and then continued in (B).
Statement (A) provides the solution of greater water resource management. Thus, the coherent
rearrangement will be CEDBA.

$19. Ans.(a)

Sol. The correct rearrangement of the given parts will be CABD. The sentence thus formed will be:
“Gender equality is a fundamental human right that requires ongoing efforts to challenge and dismantle
patriarchal structures that limit opportunities for women.”

$20. Ans.(b)

Sol. The correct rearrangement of the given parts will be BDCA. The sentence thus formed will be:
“Income inequality is not just about the rich getting richer and the poor getting poorer, it is about the
fundamental fairness of our economic system.”

$21. Ans.(a)

Sol. The correct rearrangement of the given parts will be CADB. The sentence thus formed will be:
“Disability rights are not just about accommodation; they are about creating a society where people
with disabilities are valued and included in all aspects of life.”

$22. Ans.(d)

Sol. The correct rearrangement of the given parts will be DACB. The sentence thus formed will be:
“Animal welfare is not just a matter of individual kindness; it is a social issue that demands we
acknowledge and address the impact of human activities on other living beings.”
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$23. Ans.(e)
Sol. All the parts of the sentence are placed in their correct positions. Thus, no rearrangement is
required.

S$24. Ans.(c)
Sol. The correct sequence of the given phrases would be BACD. The sentence thus formed will be “A

sense of purpose and belonging can come from connecting with others through shared values and
beliefs.”

$25. Ans.(a)
Sol. The correct sequence of the given phrases would be CADB. The sentence thus formed will be
“Racism is not an opinion, it's a problem that needs to be actively addressed and eradicated.”

$26. Ans.(a)
Sol. The correct sequence of the given phrases would be DBCA. The sentence thus formed will be “We
need to ensure that technology is accessible and beneficial for all, not just for the few.”

$27. Ans.(b)

Sol. The correct sequence of the given phrases would be CABD. The sentence thus formed will be
“Embracing diversity and promoting inclusion can lead to more harmonious and equitable communities
for all.”

$28. Ans.(a)

Sol. The correct sequence of the given phrases would be DBCA. The sentence thus formed will be
“Cultivating a sense of mindfulness and gratitude can bring a sense of calm and positivity to our daily
lives.”

$29. Ans.(a)

Sol. The correct sequence of the given phrases would be CADB. The sentence thus formed will be
“Gender-based violence and discrimination should never be tolerated, and victims should be supported
and empowered to seek justice.”

$30. Ans.(d)
Sol. The correct sequence of the given phrases would be DECAB. The sentence thus formed will be “We
need to move towards a more equitable distribution of resources to address poverty and inequality.”

$31. Ans.(d)

Sol. The correct sequence of the given phrases would be CEADB. The sentence thus formed will be
“Investing in education and job training is crucial for creating opportunities for all individuals to thrive
in the economy.”

$32. Ans.(a)
Sol. The correct sequence of the given phrases would be BCEDA. The sentence thus formed will be
“Cultural heritage is a valuable asset that should be preserved and celebrated for future generations.”
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$33. Ans.(b)
Sol. The correct sequence of the given phrases would be BADEC. The sentence thus formed will be “The
digital divide must be bridged to ensure equitable access to information and resources for all
individuals.”

S$34. Ans.(*)

Sol. The paragraph begins by introducing Jane and her emotional state after failing her exam. The
second sentence explains how Jane feels that her hard work has gone to waste, which leads to the third
sentence where Jane realizes that she cannot allow this failure to define her. This realization leads her
to take action, as explained in the fourth sentence, where Jane decides to use her failure as motivation
to do better in the future. The paragraph ends with the fifth sentence, which shows the positive result
of Jane's efforts as she slowly starts to regain her confidence. Each sentence is linked to the next by
showing the progression of Jane's emotional state and how she responds to her failure. Thus, the correct
rearrangement of the given sentences will be EBDAC.

$35. Ans.(d)

Sol. The paragraph begins by introducing Jane and her emotional state after failing her exam. The
second sentence explains how Jane feels that her hard work has gone to waste, which leads to the third
sentence where Jane realizes that she cannot allow this failure to define her. This realization leads her
to take action, as explained in the fourth sentence, where Jane decides to use her failure as motivation
to do better in the future. The paragraph ends with the fifth sentence, which shows the positive result
of Jane's efforts as she slowly starts to regain her confidence. Each sentence is linked to the next by
showing the progression of Jane's emotional state and how she responds to her failure. Thus, the correct
rearrangement of the given sentences will be EBDAC.

$36. Ans.(a)

Sol. The paragraph begins by introducing Jane and her emotional state after failing her exam. The
second sentence explains how Jane feels that her hard work has gone to waste, which leads to the third
sentence where Jane realizes that she cannot allow this failure to define her. This realization leads her
to take action, as explained in the fourth sentence, where Jane decides to use her failure as motivation
to do better in the future. The paragraph ends with the fifth sentence, which shows the positive result
of Jane's efforts as she slowly starts to regain her confidence. Each sentence is linked to the next by
showing the progression of Jane's emotional state and how she responds to her failure. Thus, the correct
rearrangement of the given sentences will be EBDAC.

$37. Ans.(d)

Sol. The paragraph begins by introducing Jane and her emotional state after failing her exam. The
second sentence explains how Jane feels that her hard work has gone to waste, which leads to the third
sentence where Jane realizes that she cannot allow this failure to define her. This realization leads her
to take action, as explained in the fourth sentence, where Jane decides to use her failure as motivation
to do better in the future. The paragraph ends with the fifth sentence, which shows the positive result
of Jane's efforts as she slowly starts to regain her confidence. Each sentence is linked to the next by
showing the progression of Jane's emotional state and how she responds to her failure. Thus, the correct
rearrangement of the given sentences will be EBDAC.
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$38. Ans.(c)

Sol. The paragraph begins by introducing Jane and her emotional state after failing her exam. The
second sentence explains how Jane feels that her hard work has gone to waste, which leads to the third
sentence where Jane realizes that she cannot allow this failure to define her. This realization leads her
to take action, as explained in the fourth sentence, where Jane decides to use her failure as motivation
to do better in the future. The paragraph ends with the fifth sentence, which shows the positive result
of Jane's efforts as she slowly starts to regain her confidence. Each sentence is linked to the next by
showing the progression of Jane's emotional state and how she responds to her failure. Thus, the correct
rearrangement of the given sentences will be EBDAC.

$39. Ans.(a)

Sol. The correct rearrangement of the given sentence would be “DEACB”.

Let's provide the explanation for the correct sequence DEACB:

(D) Sarah had been training for months, waking up early every morning to go for a run before
work.

This sentence establishes the context by introducing Sarah's training routine.

(E) She had slowly increased her mileage, pushing herself to go further each week.

This sentence follows the previous one, explaining how Sarah has been progressively increasing her
running distance.

(A) However, she had been diligent about stretching and doing strength exercises to prevent
injury.

This sentence provides additional information about Sarah's training approach, highlighting her
commitment to injury prevention through stretching and strength exercises.

(C) She had also adjusted her diet, ensuring she was eating enough carbohydrates and protein.
This sentence introduces another aspect of Sarah's preparation, which is her dietary adjustments to
support her training.

(B) As the marathon approached, she felt a mix of nerves and excitement, ready to put in all her
hard work.

This sentence concludes the paragraph by mentioning Sarah's emotional state as the marathon
approaches, emphasizing her readiness to apply her hard work during the race.

Therefore, the correct sequence is DEACB.

$40. Ans.(a)

Sol. The paragraph begins with the introduction of Sarah, who had been training for months, waking up
early every morning to go for a run before work. Now, the second sentence explains how Sarah has been
steadily increasing the distance each week. The third sentence shows how Sarah is not just focused on
running but is also taking steps to ensure she can do so safely. The fourth sentence explains how Sarah
is taking care of her body not just during exercise but also through her nutrition. The fifth sentence ties
everything together, explaining how Sarah is feeling as she prepares for the big race after months of
hard work and dedication. Thus, the correct rearrangement of the given sentence would be “DEACB”.
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S$41. Ans.(d)

Sol. The paragraph begins with the introduction of Sarah, who had been training for months, waking up
early every morning to go for a run before work. Now, the second sentence explains how Sarah has been
steadily increasing the distance each week. The third sentence shows how Sarah is not just focused on
running but is also taking steps to ensure she can do so safely. The fourth sentence explains how Sarah
is taking care of her body not just during exercise but also through her nutrition. The fifth sentence ties
everything together, explaining how Sarah is feeling as she prepares for the big race after months of
hard work and dedication. Thus, the correct rearrangement of the given sentence would be “DEACB”.

S42. Ans.(b)

Sol. The paragraph begins with the introduction of Sarah, who had been training for months, waking up
early every morning to go for a run before work. Now, the second sentence explains how Sarah has been
steadily increasing the distance each week. The third sentence shows how Sarah is not just focused on
running but is also taking steps to ensure she can do so safely. The fourth sentence explains how Sarah
is taking care of her body not just during exercise but also through her nutrition. The fifth sentence ties
everything together, explaining how Sarah is feeling as she prepares for the big race after months of
hard work and dedication. Thus, the correct rearrangement of the given sentence would be “DEACB”.

S$43. Ans.(c)

Sol. The paragraph begins with the introduction of Sarah, who had been training for months, waking up
early every morning to go for a run before work. Now, the second sentence explains how Sarah has been
steadily increasing the distance each week. The third sentence shows how Sarah is not just focused on
running but is also taking steps to ensure she can do so safely. The fourth sentence explains how Sarah
is taking care of her body not just during exercise but also through her nutrition. The fifth sentence ties
everything together, explaining how Sarah is feeling as she prepares for the big race after months of
hard work and dedication. Thus, the correct rearrangement of the given sentence would be “DEACB”.

S$44. Ans.(b)

Sol. The order of the sentences which forms the most meaningful narrative is EBDCA.

The first statement is the sentence (E) as it introduces the paragraph by mentioning the migration of a
number of people within Maharashtra. Sentence (B) is the second sentence of the paragraph as it
continues with the first statement, stating travel from drought affected areas to areas of the Sugar Belt.
The third statement of the paragraph is sentence (D) which mentions the migrated people working hard
under harsh work and weather. The fourth statement is the sentence (C) where sentence (D) is
continued with the description of their lower wage. The last statement of the paragraph is sentence (A)
that mentions Mukadams, the contractors who exploit the seasonal workers. Hence, the correct
sequence of the statements to form a meaningful paragraph will be EBDCA.

$45. Ans.(d)

Sol. The order of the sentences which forms the most meaningful narrative is EBDCA.

The first statement is the sentence (E) as it introduces the paragraph by mentioning the migration of a
number of people within Maharashtra. Sentence (B) is the second sentence of the paragraph as it
continues with the first statement, stating travel from drought affected areas to areas of the Sugar Belt.
The third statement of the paragraph is sentence (D) which mentions the migrated people working hard
under harsh work and weather. The fourth statement is the sentence (C) where sentence (D) is
continued with the description of their lower wage. The last statement of the paragraph is sentence (A)
that mentions Mukadams, the contractors who exploit the seasonal workers. Hence, the correct
sequence of the statements to form a meaningful paragraph will be EBDCA.
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$46. Ans.(a)
Sol. The order of the sentences which forms the most meaningful narrative is EBDCA.

The first statement is the sentence (E) as it introduces the paragraph by mentioning the migration of a
number of people within Maharashtra. Sentence (B) is the second sentence of the paragraph as it
continues with the first statement, stating travel from drought affected areas to areas of the Sugar Belt.
The third statement of the paragraph is sentence (D) which mentions the migrated people working hard
under harsh work and weather. The fourth statement is the sentence (C) where sentence (D) is
continued with the description of their lower wage. The last statement of the paragraph is sentence (A)
that mentions Mukadams, the contractors who exploit the seasonal workers. Hence, the correct
sequence of the statements to form a meaningful paragraph will be EBDCA.

S$47. Ans.(e)

Sol. The order of the sentences which forms the most meaningful narrative is EBDCA.

The first statement is the sentence (E) as it introduces the paragraph by mentioning the migration of a
number of people within Maharashtra. Sentence (B) is the second sentence of the paragraph as it
continues with the first statement, stating travel from drought affected areas to areas of the Sugar Belt.
The third statement of the paragraph is sentence (D) which mentions the migrated people working hard
under harsh work and weather. The fourth statement is the sentence (C) where sentence (D) is
continued with the description of their lower wage. The last statement of the paragraph is sentence (A)
that mentions Mukadams, the contractors who exploit the seasonal workers. Hence, the correct
sequence of the statements to form a meaningful paragraph will be EBDCA.

$48. Ans.(a)

Sol. The order of the sentences which forms the most meaningful narrative is EBDCA.

The first statement is the sentence (E) as it introduces the paragraph by mentioning the migration of a
number of people within Maharashtra. Sentence (B) is the second sentence of the paragraph as it
continues with the first statement, stating travel from drought affected areas to areas of the Sugar Belt.
The third statement of the paragraph is sentence (D) which mentions the migrated people working hard
under harsh work and weather. The fourth statement is the sentence (C) where sentence (D) is
continued with the description of their lower wage. The last statement of the paragraph is sentence (A)
that mentions Mukadams, the contractors who exploit the seasonal workers. Hence, the correct
sequence of the statements to form a meaningful paragraph will be EBDCA.

$49. Ans.(a)

Sol. The story starts with John packing his backpack and setting out to climb the peak. The second
sentence states that as he began to ascend the mountain, he felt the challenge of the task ahead of him.
The third sentence states that as he climbs higher, his doubts and fears begin to set in, and he struggles
to keep going. The fourth sentence states that he refused to give up and his determination to reach the
top kept him going. Finally, he reaches the summit, feeling triumphant and awestruck. Thus, the correct
rearrangement order of the given sentences would be CAEDB.
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$50. Ans.(b)

Sol. The story starts with John packing his backpack and setting

out to climb the peak. The second sentence states that as he began Test

to ascend the mountain, he felt the challenge of the task ahead of

him. The third sentence states that as he climbs higher, his doubts ’m

and fears begin to set in, and he struggles to keep going. The fourth

sentence states that he refused to give up and his determination ALL EXAMS,

to reach the top kept him going. Finally, he reaches the summit, ONE SUBSCRIPTION.

feeling triumphant and awestruck. Thus, the correct
rearrangement order of the given sentences would be CAEDB.

S$51. Ans.(e)
Sol. The story starts with John packing his backpack and setting out to climb the peak. The second
sentence states that as he began to ascend the mountain, he felt the challenge of the task ahead of him.
The third sentence states that as he climbs higher, his doubts and fears begin to set in, and he struggles
to keep going. The fourth sentence states that he refused to give up and his determination to reach the
top kept him going. Finally, he reaches the summit, feeling triumphant and awestruck. Thus, the correct
rearrangement order of the given sentences would be CAEDB.

$52. Ans.(c)

Sol. The story starts with John packing his backpack and setting out to climb the peak. The second
sentence states that as he began to ascend the mountain, he felt the challenge of the task ahead of him.
The third sentence states that as he climbs higher, his doubts and fears begin to set in, and he struggles
to keep going. The fourth sentence states that he refused to give up and his determination to reach the
top kept him going. Finally, he reaches the summit, feeling triumphant and awestruck. Thus, the correct
rearrangement order of the given sentences would be CAEDB.

$53. Ans.(d)

Sol. The story starts with John packing his backpack and setting out to climb the peak. The second
sentence states that as he began to ascend the mountain, he felt the challenge of the task ahead of him.
The third sentence states that as he climbs higher, his doubts and fears begin to set in, and he struggles
to keep going. The fourth sentence states that he refused to give up and his determination to reach the
top kept him going. Finally, he reaches the summit, feeling triumphant and awestruck. Thus, the correct
rearrangement order of the given sentences would be CAEDB.
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